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18. (10 43)

(1) . 2MnO4 +16H +10ClI” =2Mn2?"+5CL1+8H,0 (243) , 1:5 240 &

(2) . WHERAE Q25 .

(3) . CL+20H ~ = ClI +CIO +H0 (243 , 0.01 240 .

19. (10 4»)

(1) CHa(g) + HyO(g) =CO(g) +3Hx(g) AH = (a+3b-c) kl-mol’'(2 %)

(2) WAD (243) @AE Q4 ®@a?/V? (249

(3) CH30H +80H™-6e=CO3>+6H,0 (2 4})

20. (1049

(1) CaCl, ) H T 2CBE (1 )

(2) 2CI-2e = Clt (2 4) A BT OSSR, ME— B R JS/E U & R I E
EYUER 7)) (BHMEHE R

(3) OIEMHERA 7Y) @ ClO+2I+2H*=Cl-+,+H0 (2 73)

4) 10.5 274

21. (13 43)

(1) Na2SO3+H,S04 () =NaxSO4+SO1+H.0 (2 43

QFT I, M2 E P IEN — B ) No, SGH 32 43)

(3) BaS04(2 73) &JEtE (29
(4)DS0,+2Fe’" +Ba?" +2H,0===BaS04| +2Fe*" +4H" (2 73) (7] 4> Wi+£ 5 SO, +2Fe3" +
2H,O===2Fe?'+S042 +4H" . S04 +Ba?'===BaS04/(% 1 7)
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Fe?' (2 /1) @c(1 47)
PO, #EEE (1540

22. [—EHEORT (15 70
(D ®RE® (24)
(2) HERILRQC )
(3) SOz +Br2+2H,0 = 4H'+ 2Br+S04 (2 47) HRERX B & B E R k. (2 77)

4 2C1_+2H20ﬁ20H_+C12T+H2T; Q MV ER R EH PRI K Ca2'. M2, S04~

SRR, TR ST THE, PR FAC B, (3 43)BaCL & (2 47)

23. [z r——Wmssi S5 (15 40
(1) Cr (1743) 1s2s22p®3s23p°3di4s' (1 43)

(2) P14 [7g EEE (15
(3) N>0>C (14
(4) “FE=MF (140 NOysiBFs  (24) sp’ 240k (149)

(5) PbBaOx: (24r)  F 124 (24
qﬁz oM

)4 Wdga (274

24. [eE—FHLFIAE]T (15 40D

(1) C1oH704C1 (2 43 (2) 4 Q25 (3) a (24>

» (liﬂﬂH {lzm:r:Hzr:Ha (245
=0  + 2CH:CH:0H — == £=0 +2H:0 g
L COOCH:2CH:

B s B B A S 2 (149
(50 9 R (273) (AN EEM AR AEAERTIR0 = Fh &5, i AFE DN 9 Fi)
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